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But it states that its flesh is Tomei — SINP NRY w2 N7

OVERVIEW

DXV N 1S an IRMYT 28, which 1s %01 OTR N?JU?J.I The X2na cites a 71wn which
teaches us that if a cow drank this DXvR *n, its meat (after it is slaughtered) becomes
Xnv. However 77° " argues and maintains that the nXvr "» lost its ability to be
Xnwn, since it is P02 in the intestines of the cow. The X713 intended to prove from
this that °"9 maintains that Ppwn cannot be 7721 Xnun, for otherwise the w2
should become ¥nv with a 799 nxmw.” The X3 rejected this proof, saying that
indeed *"1 meant there is no 770 XMV (the NRVA 7 is not an XML AX),” but
there is a 7P I8AW (the NXVA "n is ARMLA 721). The X3 infers that according to
this, the p"n maintains that the NXWYA » retains its 771A7 ARV status,’ but that
cannot be for the p"n states Xnv 77Ww3, but not a person or °7> which touches the *»
nXoun. Our NdOIN discusses the 7710 AR and 799 IRAI status.

mooIn first clarifies the question *INp XY 7W1A K7:
- “nytn NN 19937 DIV 19990 NY D999 DTN HaN Nva NPT ynwn

This indicates that only its =22 becomes Xnv, but not 2v%31 278 who touch this "
nXvr, and the reason for this is because the nXvr °» became disqualified because
of ny77 N3, They can only be Xnvn as PRAV PRPWA (a XML T21) which can be 179K Xnwn.

nvoIn asks:
= INNPVY XY NYP ANNIV ITIAN NN ANMIV 11D NNIDT 1199 9IRN ON)

' nxun *n is spring water which was drawn in a vessel and the ashes of the 727X 799 were mixed in them for the
purpose of sprinkling it on a N1 X1 to be 77vN him.
> The original NXvr °» are an IXMWLI AR (which can be Xnvn even 0°991 07X), and even if we assume that the nxun *n
was 17°¥n2 17703, nevertheless this o°n that is °vn3 touched the nXvn "1 (they touched themselves), so they should be a
TNMIL? WRY and if 1Pwn can be Xnwn, this WK Ppwn should be Ravn the w32 (to become a "1w). [See 902 7"7 "'wA.
However, npon disagrees with this explanation (see later in this n1901n).] The fact that *"1 maintains that 7°v»2 7202
and the 1pwn are not Xnwun the w32, proves that 1pwn are not Xnvn at all.
? Any person or *3 which comes in contact with this 7ynaw nXon *» does not contract 7Xmw, for it lost its status as
an aNmvT aN.
* This means that the 7°¥23w NXYA "2 retains its XMV X status to be 0°931 DX XawA.
* One may argue that the p"n maintains that the NXor *» retains its 7% 7XMY status, but we were discussing only
the 7779, therefore they say the 7197 "w2 is Raw, but indeed perhaps it can also be 0°731 o7& ®Xnwn. However mooin
argues that if that is indeed true, why emphasize RXnv 37w3 (it could have said 7Xnv &7). Therefore we can infer that
only 7722 and not 2°71 Q7K.
% ny7a non means a lack of mindfulness. One must always concentrate on the nXur *» and not become distracted
from it, otherwise it becomes unfit for nRvn "». We derive this from the p105 (in v,v° [npr] D2712) which states 7nM
X7 DRV 7171 "2 NIAwn? °"12 nTY9, the NXVn *» need to be watched
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And if you will say; since the 79mnr A= (AxWT 2X) ‘flew away’ from this

ynaw nXon, it should not be X»u» even with a 7799 IRPWY (axmwoT [Pwra] ) -
- (x,np DA Y 1AV $993) (vx0 1) JIOD N2 P92 199N NNT

For the X713 states in 320 82 29 and in 2y ®12w p2p, that -
- TNIWA 929 199X 25U YW TWHN 383 RY *H9I0N ANDIV XNVY 1DV

Anything which will eventually be X»u» a 79%an a8»R, does not require w1

v w, and it is considered as if it touched a yow -
= 119990 NPV RNV INDY TIPa NPT 1M

But that is only as long as eventually it can be 779217 R2W KBV, then it can be

NnUn a 77p R without yaw won -
- auan sya nnn AN XPVY 939 INT PRY YaN

However when it is already unfit to be X»w» a 7977 ANRW, it requires a Wi
T to be 192N Rawn -
- 5n1 19 9aN1D UNDN WA 233 (3,08 poiny AWPND AN DI 1999NTS

As the X3 states in wpnn 7273 P99 regarding meat which separated from an
ST 3% TN, that it is not 79 IRMPIVA PPWHY PIOIN RALA -

- UM NMIYY AN DY NPV NININ IRMV XNOY P19row A ndY s3nm XY
For that which initially it eventually could have been 79217 820 X2un when it
was with its ‘father’ (the entire limb) is not effective to consider it 9w21% to be

PPWM 1PYIINR Xnvn unless it becomes W (by touching a yaw, etc.); the reason is -
- ¥a9an AN/DIL NPVY NN PN 19919 YWY 9NNDT 1199

" The x 3 concludes that according to the p"n the MYnaw nRvN °n can be Rnvn a A2p RML; the W1 is Xnv. [See
footnote # 2 that N1901N does not accept >"w7d that the 1pwn became XnY by touching themselves. ]
8 For instance the 75°21 of an v 71y, which is Xnvn an a7X (this is a 7m0 ARmw) if he swallows it (only). If a
person merely touches it he does not become ®nv. This v W NH21 can be P72 Xnwn (which is a A% axMY),
without y7w w3i. See following footnote # 9. The nXun »» is also considered 71MM AR RAY? 1910 because whoever
carries the nXvr *» or touches it becomes Xnv.
? Generally for a 7387 to be Xnvn other Ppwm 122K, there are two requirements, first that the 93&n became w2
TRMIW 92p% (through coming in contact with water), and second that it needs to be touched by a v (so it becomes
Xnv), only then can it be Xnun other Ppwm 1221, However this 1w 7w n223, since it is 770 ARML Xnw? 1910, SO
right now as it is, it can be Ppwn 19218 Rnwn without it becoming wet and without it being touched by a yw.
' For instance in our case, where the nXun *» became ny71 0712 7109 so they are not longer 7man X®IL Xy, they
can also no longer be 1Pwm 122X Xnun unless they first became ¥nv by touching a yw.
"1t would need to become wet (if it is a Y3%n), and be touched by a yw before it can be Ppwn 122K RawvA.
'2 An °ni 12 72X is a complete limb (including the meat and bones) which became separated from an animal. An 928
*n7 12 (as long as it is whole) is &nvn like a 79°21 (it is an a&mLa 28). However if the meat separated from the 72y, the
meat cannot be Xnvn even Ppwn P20 (like a aRMLI TN).
13 The 0"~7m amends this to read, xnv> XP0W 7372; in X"2wA7 '0I0 it reads, X10H 100 oW On.
'* The same should apply here; once there was ny7a o> by the nxXun *» and it cannot be 7 am AR™Y Xy, it should
not be able to be 7pwn P XLA even with a 7%p IxMY. See footnote # 2 [in the bracketed area] that n1ooIN does
not subscribe to s*"w" view that the nXvn "» touched itself. See ‘Thinking it over.
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Since after it detached from the 72X it is no longer fit to be 77927 N2 RRWR —

moon answers and distinguishes between the two cases:
= (x,097 97 0v) AVIINI NIYNI 1P9INTD Bynry \Y NYUYN YNIYYI ONN SINYT 9D UM

And one can say; that there (by °n77 71 7281 w197 w2) it is different (from here
by nxvn °n), for when it served as part of the 1"7n1R, it served in the capacity of

‘wood’ (not of P21X) as the X1 states in 2wy Wwa P9 -
= W51 ¥ ANN YYD 1o0

So therefore when the 72 separated from its ‘father’ (the 72X) it requires w57

YW in order to be Xnvn -
= NYY NINHM PIINI 1NY TP98 HNVN M DAN

However regarding the nxurn s» there is a requirement that initially they be fit

to drink -
- DN DMNYY PINT 905 DYV NN XY AUPN IR 11YY 191N INDIO NN

So it turns out that their initial 7907 7821 was not a v awy» (like by 1"7nx),
but rather because they are fit for a person to drink (they are xnun as Ppwn) -

$PPYN NNV NNID XY VDIV N TaD) ANTND 192N 1910 XD NN )vay
For in any other way (if they were not 078 n»nw> 11X1), they would not be fit
for sprinkling, so therefore even after they became 102 (and lost their nxmW
77mn), the Ppwn nR2w did not ‘fly away’ from it.

SUMMARY

The nXYM 1 can be Xnvn as PpPwn even after the 7Mnn ARMY left, because initially it
was RXnabn as Ppwn (since it needs to be 07X N NWH 1°X1); as opposed to WD WA
n'"makn which is not PR Xnwvn without yaw won, because initially it was only
TV 7wyn and not considered 772X,

THINKING IT OVER

Does the rule of w21 >¥2 K2 7700 IR0 X102 1D0OW 23, mean that right now it has
the capacity to be 12p nXmw Xnwvn; if so, even when it lost its capacity to be Xnvn a
770 axmg, how did it lose its capacity to be Xaun a i72p axmw?'

15 The w2 of the n"mx which is o078 XnvA (while attached), is not Xnvn as an 92X, for even the NnE 172 of the 7R
(which are definitely not considered 1°7218) are also Xnun. Rather the n'"inX (including the “w3) is considered like a
piece of wood, which is 07X &nvn. However now in order to be Ppwm 192 Xnvn, it needs to be considered as a
regular 92, and an 92 needs YW W7 in order to be RxwA.
' Others amend this to read ""iw' (not vw).
17 See (footnote # 14 and) o171y yap.
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